

Exercise

Perform &amp; simplify.

$$\frac{x^2-1}{2x+2} \div \frac{x^2+x-2}{2} - \frac{1}{x^2+5x+6}$$

$$= \frac{(x-1)\cancel{(x+1)}}{2\cancel{(x+1)}} \cdot \frac{\cancel{2}}{(x+2)\cancel{(x-1)}} - \frac{1}{(x+3)(x+2)}$$

$$= \frac{1}{x+2} - \frac{1}{(x+3)(x+2)} = \frac{(x+3) - 1}{(x+3)(x+2)} = \frac{x+2}{(x+3)\cancel{(x+2)}}$$

$$= \boxed{\frac{1}{x+3}}$$

Exp.  $\frac{1}{4 - \frac{3}{2 + \frac{x}{1-x}}}$  ,  $\frac{1}{2 + \frac{3}{1 + \frac{4}{x}}}$

$$\begin{aligned} \text{a) } \frac{1}{4 - \frac{3}{\frac{2(1-x)+x}{1-x}}} &= \frac{1}{4 - \frac{3}{\frac{2-x}{1-x}}} = \frac{1}{4 - \frac{3(1-x)}{2-x}} \\ &= \frac{1}{\frac{4(2-x) - 3 + 3x}{2-x}} = \frac{1}{\frac{8-4x-3+3x}{2-x}} = \frac{2-x}{-x+5} \end{aligned}$$

$$= \boxed{\frac{x-2}{x-5}}$$

Exercise

Perform &amp; simplify.

$$\frac{x^2-1}{2x+2} \div \frac{x^2+x-2}{2} - \frac{1}{x^2+5x+6}$$

$$= \frac{(x-1)\cancel{(x+1)}}{2\cancel{(x+1)}} \cdot \frac{\cancel{2}}{(x+2)\cancel{(x-1)}} - \frac{1}{(x+3)(x+2)}$$

$$= \frac{1}{x+2} - \frac{1}{(x+3)(x+2)} = \frac{(x+3) - 1}{(x+3)(x+2)} = \frac{x+2}{(x+3)\cancel{(x+2)}}$$

$$= \boxed{\frac{1}{x+3}}$$

Exp.  $\frac{1}{4 - \frac{3}{2 + \frac{x}{1-x}}}$  ,  $\frac{1}{2 + \frac{3}{1 + \frac{4}{x}}}$

$$\begin{aligned} \text{a) } \frac{1}{4 - \frac{3}{\frac{2(1-x)+x}{1-x}}} &= \frac{1}{4 - \frac{3}{\frac{2-x}{1-x}}} = \frac{1}{4 - \frac{3(1-x)}{2-x}} \\ &= \frac{1}{\frac{4(2-x) - 3 + 3x}{2-x}} = \frac{1}{\frac{8-4x-3+3x}{2-x}} = \frac{2-x}{-x+5} \end{aligned}$$

$$= \boxed{\frac{x-2}{x-5}}$$

Exp. Simplify  $\frac{x-y}{x+y} \cdot \frac{x^{-2}+y^{-2}}{x^{-2}-y^{-2}}$

$$\frac{x-y}{x+y} \cdot \frac{\frac{1}{x^2} + \frac{1}{y^2}}{\frac{1}{x^2} - \frac{1}{y^2}} \quad \text{LCD} = x^2 y^2 \quad \frac{(x-y) \cdot \left(\frac{1}{x^2} + \frac{1}{y^2}\right) x^2 y^2}{(x+y) \left(\frac{1}{x^2} - \frac{1}{y^2}\right) (x^2 y^2)}$$

$$= \frac{(x-y)(y^2+x^2)}{(x+y)(y^2-x^2)} = \frac{(x-y)(y^2+x^2)}{(x+y)(y-x)(y+x)} = \frac{(y-x)(y^2+x^2)}{(x+y)^2(y-x)}$$

$$= \boxed{-\frac{(x^2+y^2)}{(x+y)^2}}$$

Do  $\frac{x^{-2}-y^{-2}}{(x+y)^{-2}} = \frac{\frac{1}{x^2} - \frac{1}{y^2}}{1} = \frac{\frac{y^2-x^2}{x^2 y^2}}{\frac{1}{(x+y)^2}}$

$$= \frac{y^2-x^2}{x^2 y^2} \cdot (x+y)^2$$

Exp Find the LCD of  $\frac{1}{12(x^2-y^2)^2} + \frac{1}{36(x^3-y^3)} + \frac{2x}{24(x-y)^3}$

$$12(x^2-y^2)^2 = 2^2 \cdot 3 (x-y)^2 (x+y)^2$$

$$36(x^3-y^3) = 2^2 \cdot 3^2 (x-y)(x^2+xy+y^2)$$

$$24(x-y)^3 = 2^3 \cdot 3 (x-y)^3$$

$$\Rightarrow \text{LCD} = 2^3 \cdot 3^2 (x-y)^3 (x+y)^2 (x^2+xy+y^2)$$

$$\boxed{\text{LCD} = 72 (x-y)^3 (x+y)^2 (x^2+xy+y^2)}$$